
ATLAS SCT Module Response Curve  -  ABCD2T  -  Linear fit

Run 1476   Scans 1 - 16   Charges 0.00 - 3.00 fC   Module 0   Stream 0
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Response Curve chip 0 p0       = 87.59 +- 5.622 

p1       =    54 +- 2.446 
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Response Curve chip 1 p0       = 95.62 +- 4.571 

p1       =  51.7 +-  2.05 

Response Curve chip 1 p0       = 95.62 +- 4.571 

p1       =  51.7 +-  2.05 

Q (fC)
0 1 2 3 4 5 6 7 8

R
es

po
ns

e 
(m

V
)

0

100

200

300

400

500

600

Response Curve chip 2 p0       = 90.28 +- 4.351 

p1       = 54.23 +- 1.947 
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Response Curve chip 3 p0       = 89.35 +- 5.642 

p1       = 53.79 +- 2.492 
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Response Curve chip 4 p0       = 94.02 +- 5.495 

p1       = 51.65 +- 2.256 
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Response Curve chip 5 p0       = 88.31 +- 6.521 

p1       = 53.31 +- 2.763 
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p1       = 53.31 +- 2.763 
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